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Aufgaben zu linearen Gleichungssystemen mit mindestens 3

Unbekannten

%} X1 —3)(24-4)(3 = '§
3y +2%p ~ Xz = -2
SXq4 + Xo +6x3 =15

b) X;{— 5%x2+3x3 =10
2!1 -+ 1012 + 6x3 =20
4)(1, 1+ 2}(2 t 2)(3 = -3

© —x;- 8x— x3=-05
1.5%1 + 32 +2x3 = 11

6x1 + 14x — 8x3 =2

d) 2x; — 4xp+6xg =12

X{+15% — x3= 1
4X1+ Xp +5x3 =13

B} 3x1q + 4%y — 7%X3 = 10
2X1 + 3Xo —4Xq = 7

e G, 2% — Xz = 4
f) 3X1 +2KQ -;-213 = —1
X1 +6Xo— X3= 3
4x4 + Xo 4 5x3 = -6
g) 2x44+ 4% —X3=-9
3xq +0,5%p +4x3 = 8,5
-2X1+ Xo+7%x3=0
h) —5x4 + 3xp + 2,5x3 = —33,5
X1 +8xp+ 4x3=3
3x4 + 3xp — X3 =12
i) 10xy ~ Bx3 = 10
2%y + Xp — 3)(3 = -3
4xq + 6xp — 8x3 = —26

k) 2x4 + 0.5%p +~ 4x3 = 52,5

9%x¢4 + 3xp + 6x3 = 123
Xy — 6!2 —4)(3 = =90

) =2%x4 + X2 4 3x3 = -8
3xq + 8xp +2x3 = 1

5x¢ + 6xg = -7
m) 5xq + Ag= -16
~4x1 + Xp+2x3=— 6

6Xxq +8xp — 4xg = —32
n) 2X;— Xo— Xz+2x4= 3
6x4 —2Xp + 3x3 — X4 = -3
—4xq + 2X2 + 3x3 — 2x4 = -2

2X4 + 4x3 — 3x4 = —1
0) X1 —2X2 + Xz +3x4 =1
Xy + 3x3 +2x4 = 3

3xq +2%X2 +4%X3 — X4 =1
—2)(1 + 6Xp — 2)(3 - 2%4 = 16
P) Xy —2xp +2%3 +3X4 = 3
Xy +3Xp + X3+ 3xX4 =13
2X1 + Xo 4+ 5x3 —4x4 =6
2X1 — 44Xy + 6X3 — 4x4 = —4

qQ 3xq1— Xo+ 2x3=1
7% — 4)(2 2)(3 = -2
—Xq] — 3X2 oy 12!3 =-5
—X1 + 2%2 + 5X3 =2
5)(2 +17%3 =7

N 2xy + 3xg + X4 =19
Xy + 2X3 + 8x4 = 34
2X1 + 3X2 — X3 + 6x4 = 21
~4%q + 5xp — 23 + x4 = 1
S) Xy+ 5Xp+3xg+2x4 =3
—4Xo + 5%X3 +6X4 =6
4x4 + 10x2 + 2X3 — 6x4 = —2
12x4 + 5xp + 4x3 +8x4 = 20
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